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Fig. 1.1 show the readings for the measurement of the internal diame!

t
and Fig.1.2 shows the measurement of the external diameter of a met:lr :l'p: s

vernier scale
Fig. 1.1

What is the thickness of the pipe?
A 0.25cm B 0.39cm
Cc 0.50 cm D 0.64 cm

A pendulum bob Is pulled to one side and released. The motion during its swing is shown
in the diagram below. What is the period of the pendulum?

distance from point of release / cm

20
ﬁme/ s
A 1.0s B 20s
c 30s D 40s
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3 The diagram shows the velocity of two cars Car X and Car Y over a period of lime. From 5 A spiritlevel is made of a sealed glass bulb with a smal alr bubble ficaing on the kquid
the information given, which statement is correct? inside.
velociy 4 / air bubble
d .
Z PN | e 2
CarX lCar Y forward
Y4 motion
7
,I What would be the motion of the air bubble if the spirit level was siopped suddeniy?
£ > timels
A The air bubble will move forward.
B The air bubble will remain at the original position.
A CarX Noriss fasier fhan'car.Y. [+ The air bubble will move backwards.
B Car X travels the same distance as car Y within the same given time. D The motion of air bubble cannot be determined because fhe iotal mass of he
(o Car X accelerated at thesamerate ascar Y. liquid is unknown.
D Car X and Car Y always travel at constant velocity.
6  When a rock is dropped on Earth, It accelerates at about 10 mis®. When a rock is &opped
. on the Maon, the rock accelerates at about 1.6 m/s?. Which figure shoss fhe seed-fra
4 The diagram shows how the speed of a bullet varied as it penetrated a layer of concrete. graph for the rocks dropped on the Earth and the Moon?
1 A B
4 'y
— speed speed
200 Earth /Emh
velocity -
ms 100 - - - - e Eanil
time - tna
0 1 —s lime /s , c R D
0 0.5 10 speed 1 speed
Given that the mass of the bullet is 300 g, determine the values for the deceleration and Earth
the corresponding farce acting on the bullet. . —
Moon _
deceleration (m/s?) force (N) ime
A 100 60 ’
B 200 60
Cc 100 60 000
D 200 60 000
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5 2, -
- eriment was conducted to find the density of a piece 9f cork which has a =
7 Two forces of 20 N act on a2 moving body of mass M. Which diagram would produce a 10 g'é ‘:ﬁn order to submerge the cork totally in water, it was tied to a piece 9| lead “'“mch
S AT has a mass of 220 g. The water levels for the various stages of the experiment are as
shown in the diagram below.
A B
20N oON 20 N 20N
————1 70 cm®
& D

20 N

3
20 N ——=450cm =

2 L] =1 lead
ON 20N gy ity &
8 A small object of mass 2.0 kg maves along a track as shown in the diagram below. The

speeds of the object at point A and B are 4.0 m/s and 1.0 m/s respectively. The length of
the track AB is 2.5 m. What is the average value of frictional force acting on the object as

What Is the density of the cork in g/cm®?

it is moving from A to B? A 0.10 B 0.18
B c 0.24 D 0.50
A 28N
B 56N 11 Tom sits on a chair and Gina tries to tilt the chair by exerting a force as shown in the
) diagram.
c 11.2N
D 224N
9 A body falls freely under the action of gravity. Which statement concerning its energy
is/are correct? Assumae that air resistance is negligible, : o gi':: exerted by
()] it gains kinetic energy while falling
(1) its total energy at any point of the flight is equal to the initial energy at the top of (____
its flight
() its gravitational potential energy at the end of the flight before it hit the ground is
all converted to kinetic energy -
oA
A (1) only front leg of chair back leg of chair
B {1) and (1) only Given that the weights of the chair and Tom are 30 N and 600 N respectively, and that
c {11) and (111) only they act at a distance midway between the front and back legs of the chair, detsrmine the
D (1), (11) and (1) minimum force required by Gina to tilt the chair.
A 126 N B 252N
c 504 N D 630N
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12 Three boxes, each of weight 500 N, are placed on a plank of negligible mass as shown in

13

the diagram. Tom Intends to lift the three boxes up by exerting a force at the other end of
the plank. If Tom is only capable of exerting a maximum force of 500 N, determine the
length of the plank d required before he is just able to lift the boxes.

sesi¥a

..-.....{.
S
2]

force exerted
by Tom

A B60cm
B 80 cm
C 100 cm
D 120cm

A student assembled the set up below as shown in the diagram using two balls made of
different materials W and X, and two different liquids Y and Z.

w
\
%
b, [ \J\z

Y

Which of the following correctly amanges W, X Y and Z in descending order of their
densities?

w.Xvz

WYXz

ZXxyw

ZY,Xw

o0 w»

14 A 0.500 kg stone tied to a 0.300 m long string is twirled in a !worizontal circle as shown in
the diagram. The only horizontal force acting on the stone is the 100 N tension by the
string. Calculate the work done by this tension. Assume that there is negligble air
resistance.

motion of stone 5:

A 0J
c 50J D 188J

15 The diagram below show a V-shaped object placed in different orientation. In which
position does the object exert the maximum pressure on the surfaca it is resting?

| & Bﬁ;
c@ E

16 On a cloudy day, a sealed packet of potato chips is taken to the of 2 mountain
packet is found to blow up like a balloon. This could be because P ) m

the air outside the packet is now hotter than the air inside the packst

the air outside is now at a lower pressure than the air inside the packet
the ultraviolet radiation has increased

the packet has a small hole which allowed air to leak in

o0 o >
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17  The diagram shows a simple mercury barometer with trapped air. The atmospheric

pressure is 760 mmHg.

trapped — (L)
air

——— g —

40 mm

730 mm

What is the pressure exerted by the air trapped above the mercury column?

A 30mmHg
B 40mmHg
C 730 mmHg
D 740 mm Hg

18 The diagram shows a manometer connected to a container of argon gas. If the
atmospheric pressure is 76 cm Hg, what is the pressure exerted by the argon?

Argon

A 2cmHg B 54 cm Hg
C 76cmHg D 98 cm Hg

22 cm

mercury

19

20

8
pressure P pressure P [
N /
¢ Ssanoe 2

10

Theresistanoeofamddmw-hwcmahmnmhm
of the wire in steam 910(2.Wha1wm“hul¢rwa:a-fmhﬁn~a
resistance of 1000 Q?

A 55°C B 110°C

C 182°C D 222°C

When some gases are heated in a sealed container, which of he Clowrg does nct
increase?

A The average speed of the gas molecules.

B  The average kinetic energy of the gas molecules.

C The average distance between the gas molecules.

D  The number of collisions by the gas molecules con the wals of e cortairer

per unit time.

The diagram shows a conical vessel full of water and the pressure af poirt X éoe © Se
wateris P.

If point Q is a distance h above point X, which graph shows how 52 pressur Pie o Se
water at Q varies with distance h?
A

distance h

c D

pressure P prassure P
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22 The diagram shows two blocks of copper, P and Q. The mass of P is half the mass of Q.

23

o0« >

The temperalure rise of Q is half the temperature rise of P whon the same amount of heat,

H Is supplied to each block.
NNNNANNAN CECR TR N0 55 S S CSURURY
SESSS SR CEUCTRUURURNUNNNNN
P AN LY @
ANNANNAAN CUCUETRURERRNRNNNN
NNNANANAN CCUCUUEEERNURRRERNN
COURRRRRN CUCTRERRURENRRNNNNN
SANAANAN MMLLLLLLL LGSR
H H

Which statement correctly explains the observation?

The heat capacity of P Is half the hoat capacity of Q.

Tho hoat capacity of P Is twico the heat capacity of Q.

The specific heat capacity of P is half tha spocific hoat capacity of Q.
Tho spocific heat capacity of P Is twico tho spodific hoat capadity of Q.

A transverse wave travels steadily from loft to right as shown below,

direction of wave travel
—_—

Which of the following concerning the directions of the movement of the particles R and

S is true?
R S
A To the right To the loft
B To the left To the right
c Upwards Downwards
D Downwards Upwards

24

12

An exploding star gives out energy In the form of waves. The waves travel to Earth
through space. Which of these waves could not be received from the star?

A Infra red waves B Light waves
C Radio waves D Sound waves

Which of the list shows visible light, ultraviolet rays and infrared rays cormrectly aranged
in the order of increasing frequency?

Lowest frequency ————» Highest frequency

A visible light ultraviolet rays infrared rays
B8 ultraviolet rays visible light infrared rays
c infrared rays visible light ultraviolet rays
D infrared rays ultraviolet rays visible light

Which of the following does not change as light passes Into the glass window pane?

ight . T
§: glass window
pane
) |
A velocity B wavelength
C frequency D direction

Which statement about the evaporation of a liquid Is not correct?

The average kinetic energy of the molecules in the liquid decreases.

Evaporation takes place at the liquid's surface.
The surface area of the liquid affects the rate of evaporation.
the liquid causing the temperature of the

o0 o>

Less energetic molecules escape from

liquid to decrease.
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28  The diagram shows a plane mirror placed at distance of 300 cm in front of the patient. If

the optician's test card is fixed at 80 cm behind the eyes of the patient, what is the
distance from his eyes to the image of the card?

test .
card mirror
eye
80cm ' 300 cm
A 380 cm B 300 cm
Cc 760 cm D 680 cm

A transparent sheet with a letter "F" is projected through a convex lens on a translucent
screen to give a magnified image as shown in the diagram.

*¢

The image observed on the screen will be
A F B q
c E D ﬂ

screen

V/hat is the refractive index for the block of perspex shown in the diagram?

air 90°
perepex
60*
[~ 1.15 D z’w

kX

32

14

A ray of light is incident on ane side of a rectangular glass biock, guc
refraction is 40° in the glass. Which diagram correctly shows a
(The critical angle for glass is 42°)

bhin a

4 S

E /

2t B g
POSSRie b2t of b rayy

(2}
o

# A
7 . L

The diagram shows a converging lens used as a magnifying glass when the cbject is at
6 cm from the centre of the lens.

image

. converging
T lens

Howfaristhei e from
ey from he l'::sg? fom the centre of the lens when the object is now placed 20 cn

A 20 cm B

18 cm
10cm
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Three metal bars P, Q, and R are identical in size and shape, they are suspected of
being magnets. Tests are carried out and it is found that there Is atiraction between
poles 1 and 6, between poles 2 and 4, and between poles 2 and 6. However poles 2 and
3, there is repulsion.

P Q R

1 ﬂ 3 4 5 6

Without making any further tests, which statement is correct?

P and Q are magnets.
P and R are magnets.
Poles 2 and § would repel one anather.

o 0w >

All three metal bars are magnets.

A compass is placed at point X on the cardboard as shown in the diagram. Which
direction does the north pole of the compass needle point fowards?

A potential divider circuit based on a light-dependent resistor (LDR) is shown in the
diagram below. The supply XY has negligible resistance.

50V

—0 Y

At a particular light intensity, the resistance of the LDR is 250 2. What is the potential
difference across the LDR?

A 1.0V B 1.5V
c 20V D 25V

[_ SO RS ' S
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Th_ree metal bars P, Q, and R are identical in size and shape, they are suspected of
being magnets. Tests are carried out and it is found that there Is attraction between

poles 1 and 6, between poles 2 and 4, and between poles 2 and 6. However poles 2 and
3, there is repulsion.

P Q R

1 ﬂ 3 4 5 6

Without making any further tests, which statement is correct?

P and Q are magnets.
P and R are magnets.
Poles 2 and § would repel one anather.

o 0w >

All three metal bars are magnets.

A compass is placed at point X on the cardboard as shown in the diagram. Which
direction does the north pole of the compass needle point fowards?

A potential divider circuit based on a light-dependent resistor (LDR) is shown in the
diagram below. The supply XY has negligible resistance.

50V

—0 Y

At a particular light intensity, the resistance of the LDR is 250 2. What is the potential
difference across the LDR?

A 1.0V B 1.5V
c 20V D 25V

[_ SO RS ' S
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4 The graph shows the variation with time of the velocity of an object.

/

Wihich graphs shows the variation with time t of the acceleration a of the object?

A B

time time

c D

| £

acceleration

5 AmanpdlsamdmasszskgauvssIevelgroundwiihahorizontalforceowoN.A
constant force of friction of 20 N acts on the cart.

Vihat is the acceleration of the cart?

A 063mss? B 1.6m/s? C 2.4mis? D 32m/s?

JWSS Prefmunary Examvinators 2023 Physics 6081/ 01 Secandary 4E
Page 3of 18

6 A hanging basket is fixed to a wal by a socket.

The weight of the basket is 80 N. The weight of the brackst s DM
What is the size and direction of the force exerted cn the tracket By te wall?

size of force drecticn of o=
A 20N cowr WS
B 100N upwarss
[ 20N UDwarss.
D 100N dowraarss

7 Some students measure the masses and volumes of different so=c sompies of 3 Yoo
of wood.

Which graph shows their results?

L NN

JWSS Prefiminary Examinasions 2023 Prypaca XNV Socmmary-&
Pagedoi

L% CamScanner


https://v3.camscanner.com/user/download

The diagram shows a uniform lamina with two shaded p

10 A3kgb

ortions cut out. In which section

will the centre of gravity of the remaining portion most fikely be located?

9 A thin tube contains a thread of mercury which traps air at the end of the tube. The

other end of the fube is open fo the atmosphere.

7~

thread of

Given that
of X?

A 0.0125mm

ox is restingon @ piston platform that ha

s an area of 3.0 m?,

3kg
box

area of piston

=3.0m?

11 A mass hangs from a fixed-point P. It stax'ts fr_om
which is the furthest position on the opposite side.
decreasing amplitude until it comes to rest at position 3.

the liquid inside the container has a density of 800 kg/m?, what is the height

B 000125mm C 1.25mm D 12S5Smm

position 1 and swings to position 2
it then oscillates several times with

M . memucy P
% Ual N o "‘
tapped av ... &
in tube T
S
1
When the tube is tumed upside down, the volume of trapped air increases.
Which statement explains this?
3
; -n.,e air gets hotter when the tube ns-tumed upside dow;, Where does the mass have the most kinetic energy?
e atmosphere pushes less \'Mhen it acts upwards on the mercury. A atposition 1
C The pressure ?f the trapped.atr is reduced. o | B atposition 2
D The trapped air molecules hit the mercury harder when travelling downwards. C the first time at position 3
D the last time at position 3
JWSS Prefminary Examinations 2023 Physics 6031/ 01 Secondary 4E JWSS Preliminary Examisations 2023 Physics 6091 01
Page 5 of 18
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12 Energy from petrol Is used to operale an engine. The engine drives a generator, which

produces electrical energy.
energy from weock done electrical
petrol by engine ————— energy

—— (e | | peneator |
4004 1204 1004

What Is the overall efficiency of the process?

A 25% B 30% C 55% D 83%

13 When the smoke particles In air are observed with a microscope, moving points of ight
are seen.

Which of the following sfatements best describes the points of light?

A The points of light come from the smoke particles and show the random motion
of the alr particles.

B  The points of light come from the smoke particles and show the random motion
of the smoke particles.

C  The points of light come from the air particles and show the random motion of
the alr particles.

D The points of light come from the air and smoke particles and show the random
motion of the air particles.

14 Each box shows identical molecules of a gas represented by circdles with arrows to
show the direction of travel and the speed of the molecule. A longer arrow represents

a higher speed.

Which box contains a gas of the highest density and the lowest temperature?

A B c D
¢ O \"“} )’ IR o Fad 0% e © “‘~°t(‘ :_!‘
JeZ &}}& e ovg ;‘3’\‘75’ X
" < i Y ¥,
{éf‘i}’ ~F VA sy s
PN el o AN e p oY
D-.-’f :P._(’Z Lp,rw"‘ s 'p S | O qr'.o‘
JWSS Prelminary Examinations 2023 Physics 6091/ 01 Secondary 4E
Page 70f 18

415 Which row shows what happe!
molecules when a substance changes from a random

forces of attraction between molecules

latent heat
A | absorbed by substance decreases
B | absorbed by substance increases
c | given out by substance decreases
increases

D | given out by substance

16

17

Samples of four differ:
same time duration an:

ns to the latent heat and forces of attraction between
1o fixed arrangement?

ent substances are heated in tum by the same heater, for the

d in the same conditions. The time taken for the temperature for
each sample 1o Increase by 5 °C is recorded in a table.

sample time for 5°Crise/s
P 10
Q 5
R 800
S 1200

Which materials should be used to make the body and handle of a frying pan?

body handle
A P R
B P S
C Q R
D Q S

A boy measures the pressure of a gas at the ice and steam point. At ice point, the
pressure of the gas is 120 kPa and at steam point, the pressure of the gas is 260 kPa.
The pressure of the gas varies linearly with temperature.

What is the temperature of the gas when the pressure of the gas is 85 kPa?

A -33°C

B -25°C

JWSS Prefiminary Examinations 2023

C 25°C

Physics 6091/ 01

Secondary 4E
Page 8 of 18
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18 The diagram shows the tem

perature-ti R
uninsulated beaker, e 9raph for hot water that is cooling in an

lemperature % 2T .
1“C Sedtraty iaebudd
604. BRLS I R T
40 -
el INGH e
I I IR 1L
20 bit by
e haaieal soRRNLARS NS IS XS
Y ERARRey P = 3
0 1 2 3

lmar/hours

The beaker is now insulated. The same volume of hot water, ot the same iniial

len:)pemuro as before, is put into the insulated beaker, The beaker iz in the same room
as before.

Which la the new temperature-time graph for the water as it cools?

A B
PO otr crgin cmeayene e e
tampacalwe 43 | R
e o ‘ < l ; H
A04 ' L I ;
0 ISR - ! > I
0] ey { i
ode { | |
0 1 2 2
V™ Thoumn
c D
e
oot "'.
..,é..--..,‘
.
3 R
M 3
e Doy
JWSS Pretminary Examinatons 2023 Physics 5031/ 01 esanduey 4

Page 8ol 18

19 A 2 kW kettle containing boiling waler is placed on a balance. The

20

ketile is lef on ang
kg afer some time.

The specific latent heat of vaporisation of water is 3 000 000 J / kg.

the water continues to boil. The balance reading changes by 0.20

How long did the water boil for?
A 0.0033s B 300s C 300000s D 1200000s
When a liquid evaporates, some molecules escape.

What is the effect on the average kinetic energy of the liquid molecules and from where
do the molecules escape?

kinetic energy of liquid molecules molecules escape from
A decreases everywhere within the liquid
B decreases the surface only
c Increases everywhere within the liquid
D increases the surface only
21 The diagram shows a wave on a guitar string with point P marked on the string. The
wave Is moving In the direction shown.
wave direction
—_—
What is the movement of P?
A downwards then upwards
B tothe right
C tothe right then to the left
D upwards then downwards
JWSS Preminary Examinations 2023 Physics 6081/ 01 Secondary 4E
Page 100l 18
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22 Atrensverse wave ot @ certain instant Is indicated by a solid curve below, After 0.05 s,
the wave travelled a distance of 2 cm and is indicated by a dathed curve.

2cm
= ;
AN

\

NS

'
-

’7

What is the wavelength and frequency of the wave?

7
y
D/

“wavelength/cm | frequency/Hz |
A 8 25
] 8 5
c 16 25
] 16 5

23 Wnich statement comrectly describes the image formed by & plane miror?
A Animage will only be formed when the object s put right in tront of a plane mutor,
B The image formed by a plane mirror becomes smafler when the obyedt & moved
further away from the mirror.
C The image formed by a plane mirror is real.
D The size of the Image formed by a plane mirror is independent of the size of the

mirror.

24 The diagram shows a light ray incident on an inclined plane mirror,
Which pathway ls taken by the light ray?

B
A Cc

|__ plane mimor
— normal

JWSS Pretminary Examnations 2023 Physics 5031/ 01 Secondary 4E
Page 1118

25 Al an airport, a passenger’s bag Is placed In the baggage scanner.

— K baggage

scanner

bag *
Which type of waves Is used to examine the contents in the bag?

A gemma rays B microwaves C ultraviolel rays D X-rays

The diagram shows a bell ringing inside an inverted bell jar that s connected to a
vacuum pump.

¥ 1o vacuum pump

What Is likely to happen when the vacuum pump Is switched on?

A the bell rings louder

B the bell rings with a higher frequency
C  the bell stops ringing

D  theringing of the bell cannot be heard

Waveforms of two nates X and Y are shown in the datalogger screens with the same
scale.

- P

.
3

3
.

. —
\"‘. > N 4

X
Which statement is true?

A Xhas a higher pitch than Y but is not as loud
B Xhas a higher pitch than Y and is louder
C  Xhas a lower pitch than Y and is not as loud
D  Xhas alower pitch than Y and is louder

JWSS Prelminary Examinations 2023 Physics 6091/ 01 Secondary 4€

Page 120/ 18
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28 Two persons P and Q stand in front of a vertical cliff as shown.
P is holding a pistol.

1i

340m 680 m

P fires one shot using the pistol and Q hears two shots instead.
The speed of sound in air is 340 m/s.

What Is the time Interval between the two shots that Q hears?
A 10s B 20s C 40s D 80s

28 Which statement best describes an electric field?
A afield that contains electricity
B a field that surrounds a charge particle
C  areglon In which an electric charge expetiences B magnelie foree
D  aregion in which an electric charge experiences an electric force

30 Conductor P carries negative charges of -8 x 10" C while the conductor Q caries
positive charge of 4 x 10° C. A conducting wire is then connected between the two
conductors.

TTTTIITITT777 7777777777 77777
Which statement describes the flow of charges in the wire?

A 2x10* C of negative charges will flow from P to Q.
B 2x10°C of negative charges will flow from Q to P.
€ 61X 10° C of negative charges will flow from P to Q.
D 6x1tr'Cofnegaﬁved\ameswﬂlﬂow!rantoP.

JWSS Preliminary Examinaions 2023 Physics 5001/ 01 Secondary 4E
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shows how current varies with potential difference in wires X and Y which

of the same material.
1"A
08 +—— Y

31 The graph
are made up

04 1

0
Which set of changes 10 wire X would allow wire Y to have the same resistance as X?
Tlengh | “cross-sectional area
A doubled doubled
B halved doubled
c halved halved
D no change doubled

12 Ina circuit, a variable resistor is connected with a fixed resistor of constant resistance.
Vi and Vi represents the potential difference across the variable resistor and fixed
resistor respectively. 11s the eurrent fiowing in the elreult

I‘ ' °
1
2810

Which row correctly describes Vi, V2 and | when the resistance of the variable resistor

increases?
| Vi V2 {
A \ decrease increase decrease
B decrease no change increase
[+ increase decrease decrease
D increase decrease increase
JWSS Preiminary Examinations 2023 Physics 6091/ 01 Secondary 4E
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33 Two resistors of 6.0 Q and 12 Q are arranged in parallel as shown. 36 The metal case of an electric heater is earthed. The plu i
] y H g to the heater contains a 5 A
The current through the 6.0 Q resistor is 4.0 A, fuse. There is a current of 4 A when the heater works normally. The live wire becomes
loose and makes electrical contact with the metal case.

oL Which statement is correct?
—— A The current flows to earth and the fuse is not affected.
204 B  The fuse melts and switches off the circuit.
What current does the ammeter show? C  The fuse will not melt as the current flowing is below 5 A.
A 40A B 60A C 80A D 120A D  There will be 4 A of current flowing in the neutral wire.

37 The diagram shows the direction of a beam of electrons passing through a magnetic

34 An electric iron, coffee maker and a lamp are connected in parallel to a single 240 V field
ield.

socket using a three-way adapter. Their electrical ratings are provided in the table.
electrical appliance rating
laptop 240V /100 W beam of electrons
coffee maker 240V /650 W

lamp 240V /200 W
What is the total current flowing through the socket if all devices are operating at the magnetic fleld
same lime?

In which direction will the beam of electrons deflect?

A 1.32A B 331A C 396A D “9.82A

A  into the page

35 A current of 4 A flows In the live wire of a socket when the appllance is functioning out of the page

B
normally. C  uptowards the lop of the page
D

Which of the following statements is true? down towards the bottom of the page
A Acument of 4 A flows in the neutral wire.

B  Acurrent of 4 A flows in the earth wire.

C A cumentof less than 4 A flows in the neutral wire.

D A curment of less than 4 A flows in the earth wire.

JWSS Preliminary Examinations 2023 Physics 6031/ 01 Secondary 4E WSS Preiminary Examinations 2023 Physics 5031/ 01 Secondary 4€
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35

Two resistors of 6.0 0 and 12 0 are arranged in parallel as shown.
The current through the 6.0 Q resistor is 4.0 A,

600 40A
P—
1200
What current does the ammeter show?
A 40A B G60A C BOA D 120A

An electric iron, coffee maker and a lamp are connected in parallel to a single 240 V
socket using a threc-way adapter. Thelr electrical ratings are provided In the table.

clectrical appliance rating
laptop 240V /100 W
coffee maker 240V/G650W
lamp 240V /200 W

What Is the total current flowing through the socket If all devices are operating at the
same lime?

A 132A B 331A C 306A D 9.82A

A current of 4 A flows lnmellvewireo!n:odwhmgnmeapplmoelslmdbnhg
normally.

Which of the following statements is true?

A Acument of 4 A flows in the neutral wire.

B A-current of 4 A flows in the earth wire.

C  Acument of less than 4 A flows in the neutral wire.
D  Acurent of less than 4 A flows in the earth wire.

JWSS Preliminary Examinations 2023 Physics 6031/ 01 Secondary 4E
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36 The metal case of an el
fuse. There is a current
loose and makes electril

Which statement is correct?
The current flows to earth and the fuse is not affected.

oo @ >»

The fuse melts and switches off the circuit,

ectric heater is earthed. The plug to the healer contains a 5A
of 4 A when the heater works normally. The live wire becomes
cal contact with the metal case.

The fuse will not melt as the current flowing Is below S A.
There will be 4 A of current flowing in the neutral wire.

37 The diagram shows the direction of a beam of electrons passing through a magnetic

field.

e ¥

i

magnetic fleld

In which direction will the beam of electrons deflect?

A into the page

B  outof the page

c up towards the lop of the page

D down towards the bottom of the page
JWSS Prefiminary Examinations 2023 Physics 6031/ 01
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38 P and Q are wires carrying elecltric currents.
e o e T 40 An ac generator produces an output voltage as shown below.

voltage
A

° 5. AN

Which of the following shows the correct direction of current in wire P and wire Q, and

the effect on both wires? Which of the following best describes the changes if the generator is tumed twice
as fast?
direction of current in wire P | direction of current in wire Q effect on wires
A into the page into the page repulsion output voltage period
. A doubled doubled
B into the page oul of the page repulsion
= ke o th B halved doubled
page into the page repulsion c doubled halved
D out of the page out of the page altraction D unchanged doubled
38 The diagram shows three bars placed in a line. X and Y are both magnets. Zis soft END OF PAPER
iron.
X Y z W h i
N s'! [N s] [ ] Jurong West Secondary School Solution
What are the magnetic forces on X and Z due to magnet Y? itz 3 4 :. 8 5 T s sl wn
onZ
force on X force o elplclc|BlBlB|D]|C]|EC
A attraction attraction :
B attraction repulsion #Mi12 1314|557 fmf19] >
c repulsion attraction S ;
D l repulsion repulsion clalA|lD|D|D|B|D|B]|EB

PR ETRE N TR ETR R R A R

plc|o|jc|o|p|{B}|8B]D}]C

elelslc|lale|alBfaflc

Seconswy &£
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